ZDWE/ZDWF R 5 B 1T 2 FE

7 e} it EECEEM
47 .
! , ZDX06 EABERTEREN AR
. i
& J
o4 %
FaiS 60 80 120 160 ROREL | R | BRiE2EHEM| HFi
12 40 80 400 3
16 50 110 450 ‘; ;
15 45 100 400 8
12 40 80 305 10
/ 9
40 100 210 12
700 s
44 120 260 800 16
20 2
T 40 110 230 700 25 HEFHE
AR 44 120 260 800 32 ﬁu g 20000
N.M 40 110 230 700 40 Al i)
18 45 100 400 64
40 100 210 60
44 120 260 80
100
40 100 210 120
44 120 260 / 160 3
40 110 230 200
44 120 260 256
40 110 230 320
18 45 100 512
Emils 60 80 120 160 %4
SARMAN) 450 900 2100 6000
=AHETI(N) 225 450 1050 3000
94 1
TEREE(%) 92 2
88 3
- 1.7 4.4 12 36 1
E&8(Kg) 1.9 5 14 40 2
\ 2.1 5.5 16 / 3
TERE(C) -25°C~+90°C
RIPERIP 1P54
A E3gEh:
REFHFA [E5=3
W BARAENSRAMAES,EH100RPMET, 1EFE TR0 IE L/2)%,
Emils 60 80 120 160 RIRLL
0.246 1.189 5.75 24.5 3
0.204 0.939 3.91 19.4 4
0.189 0.869 3.35 17.5 5
0.176 0.809 2.89 15.9 8
0.152 0.730 2.54 15.5 10
0.242 1.159 5.73 / 9
0.199 0.919 3.83 / 2
0.188 0.859 3.28 17.5 15
0.199 0.919 3.83 19.4 16
Shim e 0.186 0.859 3.28 17.5 20
E’iﬂj&? 0.175 0.859 3.26 15.9 25
gem 0.175 0.809 2.84 15.9 32
0.175 0.809 2.84 15.9 40
0.186 0.809 2.84 7 64
0.186 0.919 3.28 60
0.186 0.919 3.28 80
0.175 0.859 3.26 100
0.175 0.809 2.84 120
0.175 0.809 2.84 / 160
0.175 0.809 2.84 200
0.175 0.809 2.84 256
0.175 0.809 2.84 320
0.175 0.809 2.84 512
Fmis 60 80 120 160 B
<30 <25 <25 <25 1
[EIF2iEIFR(3M ) <35 <30 <30 <30 2
<40 <35 <35 / 3
ﬁ?ﬂfﬂj&"N.M/ammin 1.8 45 12 38
7 dB(A) 58 60 65 70
R MmN EmMIn’ 4500
F N\ REmin’ 3000

B EHRBSRNBEX; BERNRE, BEEIm, ERANEE30005%/2=HENE.

P2211



B ZDWE SMEE

i

B zZDWE #HS K

BA{: Unitmm
RS 60ZDWE 80ZDWE 120ZDWE 160ZDWE
B 1 2 3 1 2 3 1 2 3 1 2
LIS 150 163 | 175.5 | 184.5 | 202.5 | 220 | 249.2 | 277 | 304.5 | 368 | 417.5
L3RR KE 46.5 59.5 72 60 78 95.5 | 73.7 | 101.5 | 129 129 | 178.5
L1225 93 119.5 167.5 229
%
L4HHKE 35 40 55 87
L5H MK /R 30.5 36 50 80
L6EKE 25 28 40 70
L7RE R K 2.5 4 5 5
LSEMOMEKE 3 3 4 5
DAHHER ®14h7 ®20h7 »25h7 ®40h7
D5MBER 17 25 »35 ®55
DeEMMEEHRE ®40h7 ®60h7 ®80h7 ®130h7
D7FEIFE R 60 80 ®115 ®160
D8R HTHEE ®52 »70 ®100 ®145
B1HEZE 5 6 8 12
H1fES 16 225 28 43
G2 EERLF, M5x8 M6X10 M10X 16 M12X20
G3F BT, M5 12 M6 X 16 M10X22 M12X 25
N
L2RNEZKE 20 32 38 66
LOEB ALK 30 40 58 81
L10EALME R 5 10 10 10
DIREFDTE ®70 ®90 ®145 ©200
D2EfIMAER ®50G7 ®70G7 ®110G7 ©114.3G7
D3 NI R <P14G7 <P19G7 <P24G7 <P35G7
GIREBRUILCRE M5X 12 M6X 15 M8X22 M12X25
QIBNEE 160 80 0130 0175

B AN R RIAREE AR T 1 Fo

G, www.vipdo.cn ® 400-098-1117

ICEREIRIMAB mhE, iERWEERE, iLitEEH !

IrasEt—uARBFESe

P2212



ZDWE/ZDWF R 5 B 1T 2 HE

B ZDWF JMEZE
Eata) LEDN
L1
L3 L4
()
i Lt
‘ L6_| L7
. ~ T <lo
s el [ ===
‘ T-_L5
\
m—r—— - -
Aoy Iy
ik et i
D3 81
D2 -
B ZDWF MBS % B{: Unit:mm
RS 60ZDWE 80ZDWE 120ZDWE 160ZDWE
B 1 2 3 1 2 3 1 2 3 1 2
LI EEK 150 163 | 175.5 | 184.5 | 202.5 | 220 | 249.2 | 277 | 304.5 | 368 | 417.5
L3FEEKE 46.5 | 59.5 72 60 78 95.5 | 73.7 | 101.5 | 129 129 | 178.5
L1225 93 119.5 167.5 229
IR
L4t E 35 40 55 87
L5 KA 30.5 36 50 80
LeRKE 25 28 40 70
L7RE IR 2.5 4 5 5
L8EMMEKE 3 3 4 5
LIEHEEE 8 10 15 15
D4HHER ®14h7 ®20h7 ®25h7 @40h7
D5MIBERRE 17 25 »35 @55
DeEfINAERE ®50h7 »80h7 ®110h7 @130h7
D7iHE= 160 190 120 [1160/00175
D8REFLNHE »70 ®100 ®130 2185/@200
DYE=RET ®5.5 6.5 8.5 211/@13.5
B15RZE 5 6 8 12
HIES 16 225 28 43
G3HMELF, M5 12 M6 16 M10X22 M12x25
PN
LBMINE=KE 20 32 38 66
LOEBHAHEE 30 40 58 81
L10EALME R 5 10 10 10
DIREILDHE ®70 ®90 ®145 ®200
D2EfLMEER ®50G7 ®70G7 ®110G7 ®114.3G7
D3N3 E <014G7 <P19G7 <024G7 <P35G7
GIREBLILRE M5X12 M6X15 M8X 22 M12X25
QINEE 160 80 0130 0175

B BNRR T AR IR T HI,

= ZDX06-80ZDWF-10-750T3

X HADelivery
KB KR ML | EERERW o
80ZDWF:80 75071 R5
EEREFITE  ZDX06 R BT RREN 10| 75073 OFFERR KA ARSAER

AT T2 T3EERTIFA RS AN MR,

@ www.vipdo.cn ©400-098-1117 \ESm=E 4 2iag e B
P2213 CEERIMNB R, ILRWEERE, LigitES!




